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The square root of 2 is approximately 1.414213. Identify the place value of the digit 3 in the

3) Underline the digit in tenths place. 

2) Underline the digit in hundredths place.

4) Underline the digit in hundred thousandths place.

1) Underline the digit in ten thousandths place.

a) 5.6134 39.762541 c) 258.049167 d) 64.3529

a) 82.951307 b) 8.409612 c) 63.75406 d) 154.95634

412.79508a) 290.035647 c) 7.254913 d) 30.625491

a) 256.740395 b) 824.395067 c) 90.63124 d) 692.019375
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801.29674

3.418926

56.5723

4.0328

S3

Decimal Place Value up to Millionths

A)

Identify the place value of the underlined digits.B)

C)
given value.
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